	57
	Factor each polynomial.  If the polynomial is prime, say so.
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	67
	Factor each polynomial.
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	105
	Factor each polynomial completely.  If prime say so.
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	109
	Use factoring to solve problem.
Area of a sail.  A triangular sail has an area of 
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 sq. meters and a height of x + 3 meters.  Find the length of the sail’s base.

Area = 
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Factoring
	15
	The following trinomials is in the form 
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.  For each trinomial, find two integers that have a product of ac and a sum of b.
Do not factor the trinomials.  
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	41
	 Factor trinomial using the ac method. 
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	67

	Factor trinomial using trail and error.
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	103
	Factor each polynomial completely.
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